
计算练习（1）

一、直接写得数

21×30＝ 2000＋30＝ 408÷4＝ 125×8＝ 80－27＝

20×16＝ 84÷4＝ 50－13＝ 70÷5＝ 40＋400＝

33×30＝ 129÷3＝ 600÷2＝ 36×2＝ 400×5＝

87－18＝  8
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8
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9
61 48÷3＝  10
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二、竖式计算（带☆的要验算）

302×6 57×19 ☆819÷9 ☆225÷5

三、脱式计算

702÷2×3 （319＋493）÷4

538－38×13 816÷4÷2



计算练习（2）

一、直接写得数

35×20＝ 100＋8＝ 93÷3＝ 23×5＝ 91－13＝

11×50＝ 609÷3＝ 60－23＝ 60÷5＝ 10＋500＝

68÷2＝ 5×20＝ 46÷2＝ 65÷5＝ 600×4＝

100－8＝  5
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4
6
4

二、竖式计算（带☆的要验算）

24×39 106×6 ☆522÷5 ☆416÷4

三、脱式计算

108×2×3 7×280÷4

765－15×23 312×（300－297）



计算练习（3）

一、直接写得数

75＋25＝ 50×8＝ 96÷4＝ 25×8＝ 90－34＝

400×6＝ 84÷4＝ 100－53＝ 70÷5＝ 400＋4000＝

24×3＝ 90÷6＝ 600÷2＝ 18×2＝ 300×9＝

84÷7＝  6
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二、竖式计算（带☆的要验算）

46×13 54×36 ☆654÷6 ☆486÷4

三、脱式计算

567÷7×6 （582－258）÷6

948－27×34 307＋47×6



计算练习（4）

一、直接写得数

67＋15＝ 50×8＝ 84÷4＝ 25×4＝ 80－26＝

500×6＝ 42÷6＝ 100－54＝ 90÷2＝ 300＋7000＝

21×4＝ 60÷4＝ 900÷3＝ 42×2＝ 900×4＝

81÷3＝  5
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二、竖式计算（带☆的要验算）

47×43 35×26 ☆584÷8 ☆764÷7

三、脱式计算

816÷4×3 （128＋132）÷5

300－129÷3 128＋18×6



计算练习（5）

一、直接写得数

75＋15＝ 50×9＝ 36÷2＝ 125×8＝ 90－24＝

600×60＝ 480÷9＝ 200－150＝ 99÷9＝ 600＋2000＝

11×11＝ 80÷2＝ 600÷3＝ 53×3＝ 80×6＝

32÷4＝ 166＋34＝ 896－96＝ 86÷2＝ 886＋14＝

二、竖式计算（带☆的要验算）

96×54 88×62 ☆568÷4 ☆256÷6

三、脱式计算

680÷2×9 （569－213）×5

300－279÷3 266＋25×4



计算练习（6）

一、直接写得数

45＋17＝ 25×8＝ 81÷3＝ 25×4＝ 60－17＝

400×8＝ 48÷6＝ 100－17＝ 62÷2＝ 200＋7000＝

13×4＝ 60÷4＝ 900÷4＝ 41×2＝ 600×4＝

78÷2＝  5
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二、竖式计算（带☆的要验算）

34×34 58×47 ☆553÷6 ☆155÷7

三、脱式计算

740÷4×3 （418－319）×8

200－123÷3 179＋17×4



计算练习（7）

一、直接写得数

47＋18＝ 50×8＝ 96÷3＝ 15×4＝ 68－12＝

50×80＝ 42÷6＝ 100－33＝ 90÷2＝ 200＋5000＝

12×5＝ 80÷4＝ 600÷3＝ 47×2＝ 70×40＝

93÷3＝ 
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二、竖式计算（带☆的要验算）

37×44 68×49 ☆437÷6 ☆169÷7

三、脱式计算

820÷4×5 （435－312）×6

200－126÷3 179＋11×5



计算练习（8）

一、直接写得数

280×2＝ 330×8＝ 72÷3＝ 17×4＝ 636÷3＝

5×58＝ 600÷4＝ 100－26＝ 156÷2＝ 749÷7＝

273＋99＝ 320÷4＝ 105÷3＝ 47×2＝ 118÷2＝

58×30＝ 
7
31 560÷4＝  9
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78×2=

二、竖式计算（带☆的要验算）

49×47 834÷6 ☆571÷7 ☆725÷5

三、脱式计算

（48×24）÷6 47×（63÷9）

655－255÷5 98÷2×34



计算练习（9）

一、直接写得数

65＋45＝ 40×5＝ 93÷3＝ 24×5＝ 90－36＝

200×5＝ 84÷2＝ 230－40＝ 72÷3＝ 2000＋80＝

13×6＝ 96÷4＝ 1000÷2＝ 23×3＝ 500×4＝

56÷4＝ 
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二、竖式计算（带☆的要验算）

27×45 48×37 ☆872÷8 ☆635÷9

三、脱式计算

105÷5×2 （300－126）×7

100－64÷4 129＋17×5



计算练习（10）

一、直接写得数

67＋28＝ 50×7＝ 84÷2＝ 26×4＝ 80－24＝

700×9＝ 54÷6＝ 200－43＝ 90÷2＝ 300＋5000＝

14×5＝ 80÷4＝ 1200÷3＝ 53×2＝ 800×2＝

96÷4＝  5
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二、竖式计算（带☆的要验算）

43×72 36×58 ☆862÷5 ☆637÷8

三、脱式计算

47×6×30 948－17×38

200－66÷3 236＋28×4



计算练习（11）

一、直接写得数

45＋18＝ 30×8＝ 69÷3＝ 25×4＝ 60－12＝

500×8＝ 48÷6＝ 100－13＝ 70÷2＝ 200＋8000＝

12×4＝ 60÷4＝ 900÷3＝ 42×2＝ 700×4＝

78÷3＝  5
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二、竖式计算（带☆的要验算）

36×34 67×47 ☆432÷6 ☆164÷7

三、脱式计算

840÷4×3 （437－312）×8

200－129÷3 179＋21×4
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计算练习（12）

一、直接写得数

65＋26＝ 80×5＝ 60÷4＝ 40×4＝ 90－35＝

25×8＝ 48÷3＝ 100－26＝ 95×55＝ 200＋8000＝

26×2＝ 80÷5＝ 360÷3＝ 12×5＝ 500×4＝

54÷3＝ 72÷4＝

二、竖式计算（带☆的要验算）

75×28= 57×18= ☆732÷7= ☆597÷9=

三、脱式计算

650÷5×4 （804－577）×7

600－426÷3 626＋54×2
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计算练习（13）

一、直接写得数

27＋15＝ 40×5＝ 950÷5＝ 42×20＝ 27－15＝

36×10＝ 720÷9＝ 220－80＝ 360÷3＝ 300＋27＝

30×41＝ 560÷8＝ 1000÷8＝ 41×2＝ 8×200＝

140÷7＝ 54÷9＝

二、竖式计算（带☆的要验算）

48×37= 55×18= ☆845÷6= ☆324÷3=

三、脱式计算

225÷5×16 （215＋103）÷3

802－203×3 585＋47×13
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计算练习（14）

一、直接写得数

46÷2＝ 15×6＝ 56＋45＝ 300×4＝ 100－26＝

480÷4＝ 56÷4＝ 210÷7＝ 300－260＝ 20＋280＝

45×2＝ 999－90= 630÷9＝ 12×5＝ 300×6＝

250×4＝ 153÷3＝

二、竖式计算（带☆的要验算）

36×45= 69×60= ☆805÷7= ☆920÷9=

三、脱式计算

345÷3×8 （600－257）÷7

52＋690÷5 1000－800÷5
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计算练习（15）

一、直接写得数

69＋26＝ 40×5＝ 63÷3＝ 420÷6＝ 100－35＝

19×3＝ 10×63＝ 355÷5＝ 32×84＝ 182－101＝

13×3＝ 84÷2＝ 19×6＝ 21×5＝ 300×6＝

56÷7＝ 60÷4＝

二、竖式计算（带☆的要验算）

31×29= 97×56= ☆688÷4= ☆790÷6=

三、脱式计算

48×3×3 412＋（498－194）

140－100÷20 415－55×4
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计算练习（16）

一、直接写得数

29＋35＝ 43×3＝ 480÷4＝ 36×20＝ 78－19＝

29×10＝ 630÷9＝ 460－80＝ 200÷4＝ 227－62＝

60×40＝ 151－76＝ 100÷4＝ 79＋62＝ 288÷4＝

210÷7＝ 45×20＝

二、竖式计算（带☆的要验算）

208×4= 56×50= ☆952÷8= ☆756÷6=

三、脱式计算

144÷8×5 20＋22×34

945－900÷3 （401－333）×9



计算练习（17）

一、直接写得数

32＋78＝ 70×4＝ 60÷2＝ 34×3＝ 102－21＝

6×700＝ 48÷3＝ 63－36＝ 84÷4＝ 77＋33＝

24×5＝ 400÷5＝ 400÷5＝ 80×9＝ 5×16＝

96÷8＝  5
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二、竖式计算（带☆的要验算）

45×32 77×22 ☆749÷7 ☆650÷8

三、脱式计算

472÷4×2 420－120÷3

47×（33＋27） 148＋52×2



计算练习（18）

一、直接写得数

54＋56＝ 8×60＝ 630÷3＝ 74×3＝ 72－64＝

5×800＝ 42÷3＝ 96－47＝ 60÷4＝ 24＋87＝

7×90＝ 480÷4＝ 72÷6＝ 65×4＝ 8×13＝

70÷2＝  6
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二、竖式计算（带☆的要验算）

54×56 27×87 ☆204÷5 ☆699÷7

三、脱式计算

27×8÷3 （542－483）×11

333－12×12 42＋17×13
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计算练习（19）

一、直接写得数

40×50＝ 18×30＝ 64÷2＝ 99÷9＝ 36÷3＝

88÷4＝ 80×20＝ 7×700＝ 80－14＝ 23×3＝

750－80＝ 0×93＝ 8000÷2＝ 25×4＝ 75÷5＝

99＋9＝ 100－19＝

二、竖式计算（带☆的要验算）

45×26= 78×42= ☆503÷4= ☆900÷6=

三、脱式计算

68＋24×40 125÷5×39

789－13×45 125×8＋231
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计算练习（20）

一、直接写得数

2800－60＝ 73＋27＝ 78＋6＝ 90×6＝ 100－84＝

23×3＝ 800×6＝ 400÷8＝ 102×4＝ 550÷5＝

2×28＝ 0÷32＝ 600＋50＝ 39÷3＝ 340×3＝

500÷4＝ 110－15＝

二、竖式计算（带☆的要验算）

36×36= 49×59= ☆914÷3= ☆505÷4=

三、脱式计算

106×2×5 （129＋192）÷6

12×（300－288） 624÷（2×3）


